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QUESTION 1

Which action set is needed to upload a picture into memory using SAS? 

A. LoadActionSet 

B. Image 

C. DeepLearn 

D. Table 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. 

Which statements are TRUE? (Choose two) 

A. More proper nouns terms than the pronouns terms are kept 

B. There are 9 concepts in total 

C. There are 2 custom concepts 

D. Most preposition terms are kept 

Correct Answer: CD 
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QUESTION 3

Which document structures are NOT identifiable using LITI rules\\'? 

A. sentences 

B. pages 

C. words 

D. paragraphs 

Correct Answer: B 

 

QUESTION 4

Assume no padding is used for the input. 

What is the output feature map size created by the cross-correlation between a three color channel, 10*10 input and a
4"4 filter that has a stride of two? 

Enter your numeric answers in the spaces above 

A. 3*3 

Correct Answer: A 

 

 

QUESTION 5

Refer to the exhibit (width\\'height\\'stride, d=depth): What is the cardinality within this block*? 
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A. 4 

B. 32 

C. 3 

D. 5 

Correct Answer: D 
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